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Candidates have been called for written test based on the verification of PME Certificate submitted and the
data furnished by them in the online application. If you do not possess the required qualification as per our
advertisement, your candidature will be summarily rejected.

2. 3R e g% & & T andl weA-gfeae vd 3 v AR Seer-Ahe F RF v Rl @ e
¥ g ol
Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet before
start answering. :

3. et ofien g F Pdets & i # € uaw 9F 9 gEAnN S
Candidates should sign the Admit Card only in the presence of Invigilator in the Examination hall.

4. weA-ad, 80 weAl % WY weA-ufeaw & w9 F §, e Ravor fFeerad ¥ e a3w W 13 ¥
By 9] ey §, e & dad UF Qe fondes 91 &1 dgifas A1 & 3hee axa & v wee
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3fsrar 36T & apor, Rrorelr & 3wier 3R 38 WeRl A IR IEUROT, 9= T AN WHET A

The question paper is in the form of Question Booklet with 80 Objective type questions carrying one mark
each with four options indicated, out of which only one will be unambiguously correct. The questions are
based on the following syllabus for assessing the Theoretical Knowledge in :

“Basic Chemistry with reference to flammable liquids and gases, LPG Properties, Relation between
pressure, Volume and Temperature, Areas of triangle, Rectangle and Parallelogram, Volumes of Cylinders,
Cones, Sphere and Cuboid, Properties of CO, O,, H,, Inert gases, Basic concept in the use of electricity and
its hazards, Properties of water & General Knowledge”.
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AR F T JR e e F T A0 Rl F HGER, I AR 3R M H T oger
& AT/ TTET & Sio dise U7 & FHTell Hh ToT 3cal AT TIT Ll g

Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen only as per the instructions given in the OMR answer sheet.

et s & R v ®e W 31t 39T A vd HA o

Candidates should write their Name and Roll Number(s) in the space provided in the Question Booklet.

T T 3ccR &7 & fOIT 376 W T 3 A 3R T uere AT S B

A separate OMR sheet is provided for answering the questions.

AffF ATANR 3eax G A 7l & Thet R ST T6T &, SHIAT Secki 1 HeId/orae Y FH
HAF FaeET T ST arfgvl w1S fafed AAEAR e wee 78 dr Seel|

As the OMR answer sheet is being machine scanned, utmost care should be taken while handling /
bubbling answers. No spare OMR sheet will be provided.

\:raargﬁ-?-m#aﬁ#aﬁﬁ#wgﬁamagﬁ-‘:{mm(AIBICIDIE)%’raﬁmma?awaﬁt#ﬂ'#
T Ty 9} forar smar aifgel

Question Booklet Code (A/B/C/D/E) printed on the top right corner should be written in the space
provided in OMR Answer Sheet.

A TH FR ofe &F |l wfafeat Ael/arey Ty & §id gisc O ¥ @ T e 9l
All entries in the OMR Answer Sheet should be with blue/black ball point pen only.
Jed® IR 1 IF T §, 3ol A & W AT 3% 3R 70 Iar F AU 0.25 HomeAs 3F| R R

FHT T T 30F Ica ITad Ical AT AT

All questions carry one mark each, zero mark for no answer and negative 0.25 mark for a wrong answer.
Multiple answers for a question will be treated as a wrong answer.

qQET gieT & 3T Serpeicy, AaSd B, FAC a9, §5Ue, Hadl TR, WYIUR el AT IS el
sl A9 o S T AR A6 gl Ay B gy oS AU v 3% SET & BT 3RALT el 4
STl 3R W HTHANR T Apdiod G fhar Seen AR W 3EfeaR! & e 3R awsh S
ATl Fleell HRATS Y& HI ST

Calculators, mobile phones, smart watches, Headsets, reference books, logarithm table or any other
electronic gadgets will not be allowed inside the Examination Hall. If caught red hand they will not be

permitted to write the exam and such OMR sheet will not.be evaluated and legal action as deemed fit will be
initiated against such Candidates.

Wee OF & 306y VAT &I 39AWT {6 S & Tov fHar S d@her B

Space available in the Question Booklet can be used for rough work.

e FAH @ W, 3 TH I 3R o & W RY av By Rl § v dk #w i o 3R 3aw i
ﬁﬂwﬁgﬁmémwﬁgﬂ%ﬁmﬂmﬁmwm

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the

top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate copy
with candidates.

it # ofeT & uger 1% gel & Qe ol gl aiea & Al e ¢
Candidates are not permitted to leave the Examination Hall during the first 1% hr of the examination.

o & a1, el 3 W AN Sea e v geanaR R ganm wawr o flers @ gE A

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card(s) to the
Invigilator.

IS IS FEROT & WA F AT WO AW S, i SRAeant @ giur & Qv e s A
ofr e Rw 1T §) '

The questions in English version alone will be taken as authentic though questions are given in other
languages for the convenience of the candidates.
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BREA- T (IR §. 748) / FIREMAN — A (Post No. 748)

U 1 g ———— ¥ [ 21

I[SRO Head Quarters is located at

(a) TEaHAg™ / Trivandrum (b)  igf@rer / Sriharikota
(¢) TeIE / Bengaluru (d  gcrETe / Hyderabad

afe $2Ag SMUR IR FITE SR I B H &A% g3oeg 8, o I AR R AT FaE Ay
B 1 &Fhe F BN ?

If the area of a triangle with base ‘2b” and height ‘3h’ is ‘3bh’, what will be the area of the
triangle with half the base and double the height?

(a) % bh (b)  bh

(c) 2bh (d) 3bh

WA 1 {9 ST AT S 187

Which is the tallest waterfall in India?

(a) ST S / Jog Falls (b) Ffushet o9 / Kunchikal Falls
(c) ST JI9Td / Vajrai Falls (d) “&HI Y9 / Barkana Falls
3™ & o % FER ———— )

Ohm’s law states that

(8 R=Vz&l (b) I=VxR

(@@ R=VII {dy P=W

IFTHA 5, 7, 11, 19, 35,....... 30Tk T@m S € 27

Which is the next number in the sequence 5, 7, 11, 19, 35,....... ?
(a) 51 ® 59

© 67 @ 72

Hgar-1 fiem frm o @i forn R ane

In which year Chandrayaan-1 mission was launched?

(a) 2007 (b) 2008
(¢) 2009 (d) 2010
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10.

B

12.

fyfiad § 9 ®F 9 61 THE 87

Which of the following is a unit of force?

(a) m/s? () Kg m/s?
(¢) Kgm/s (d) Kgm?s
fepelt ATEE o STUEHTR 1 A 187

What is the formula for refractive index of a medium?

(2) HreEd H yeprer w1 9 /fratd | weRmr & / Velocity of light in the medium/Velocity of light
in vacuum

(b) Trafa & weprsr =1 o/mTEm ¥ YT I a1 / Velocity of light in vacuum/ Velocity of light in
the medium

(¢) 2 x (wieqw ¥ wehrer <kt an/Frata # werw ) / 2 x (Velocity of light in the
medium /Velocity of light in vacuum)

@) % x (Fafa & weerer =1 o /m1em | We6rsl a7 / % x (Velocity of light in vacuum/ Velocity
of light in the medium)

e ————— b1 Tazreng 21

Brass is an alloy of -

(a) dieT 3T @&l / Copper and iron (b) =T 37 Feeel / Zinc and nickel
ORRGIEL 3R w1 / Copper and zinc (@ 3 iftrm / Copper and chromium

TR T FARE ATENT g (SAC) YRd & forg W § @ 87
In which part of India is the Space Application Centre (SAC) of ISRO situated?

(a) <7TE / Bengaluru (b) Tawaag@ / Trivandrum
(c) 3TBHATETE / Ahmedabad (d) TeUd / Gujarat

FATOH ST TTETY] ShHTh T B 7

What is the atomic number of Fluorine?

(a) 15 (b) 13

¢ 9 (d 7

T 1 FH B STl TE WA R i e ?

Which is the first Indian mission to study Sun?
(a) ¥gaW / Chandrayaan (b) TN / Gaganyaan
(c) 3Tfe / Aditya (d) IERIE / Sukrayaan
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13.

14.

15.

16.

X5

18.

34 B 1 R A g R wuft el iR R Rre-frm €9
What is the name of the triangle with all sides and angles different?

(a) ﬁﬂﬂ*ﬂ'@ / Scalene (b) Hfea / Obtuse
() =3 / Acute (d) SHE H @ H13 Ht 78 / None of the above

11 ¥ 91 T8 1 AT 5 99 g HI 3 H 9 A1 2t | 3wkl s o1y R Y
Rahul’s age after 11 years will be 9 times his age 5 years back. What is his present age?

(a) 6 b 7

(0 8 @ 9

TIRE TR e Wi o fopw wmn A g 27

In which part of India is the Nagarahole Tiger Reserve located?

(a) 379 %% / Andhra Pradesh (b) ARTH / Karnataka
(¢) HBRE / Maharashtra 7 (d) dfeArg / Tamilnadu

X, Y 3R Z %7 378q 950 40 kg B, X 3 Y =1 3@ a5 30 kg B, Y 3% Z &7 e a7 50 ke 2|
Y @1 9o fehat 27

The average weight of X, Y and Z is 40 kg, average weight of X and Y is 30 kg, average weight
of Y and Z is 50 kg. What is the weight of Y?

(@) 20 (b) 40

(©) 60 (@ 50

frrrfeifea o & v S=ft < =l A 77

Which is the highest peak among the following?

(2) ¢t / Nanda Devi (b) *Me / Kamet

(c) =S / Kanchenjunga (d) | HTE / Saltoro Kangri

TR 5 Y uge S aret e 9t i afcrerarsos (hitedl & o1 O T 87

Chirag Shetty and Satwiksairaj Rankireddy who won medals for India play which sports?
(a) oA 29 / Table Tennis (b) 2 / Tennis

(c) &M / Squash (d) wsffeT / Badminton

3 748FM



19.

21.

22.

23.

24.

25.

TSI T WIE °U<H i T 87
Which is the major constituent of LPG?
(a) T / Methane (b) W / Propane

(¢) ¥ / Butane (d) W= / Propene

givawe % fore fore webr & g 1 3w fopa ST @2
Which type of lens is used for Astigmatism?
(a) 394 / Convex (b) 3¥ad / Concave

(c) Tedwa [/ Multifocal (d) SR / Cylindrical

U 25% S W $ Y I SR INR. 1,250 H =@t 8| R 1 563 qed 41 A7

Amal sells his car for INR. 1,250 with a profit of 25%. What was the buying price of the car?
(a) INR. 750 (b) INR. 850
(¢) INR. 1,000 (d INR. 1,050

2 Rl % SFEEl BT I 1: 4 B I A BT AT 87

Ratio of areas of two circles is 1 : 4. What is the ratio of their diameters?
(a) 1:4 by 1:2

© 1:% (dy 2:1

3G W hl TEEE HL S = h T B R

Identify the part which protects the neurons:
(a) 2gs / Dendrite (b) €8 / Dendron

() W ¥« / Schwann cell (d) TAfees Fi9 / Synaptic knob

RpT TR 1 A 39 fogd SUR § ST W W ged SUYH 8 7

Which type of fire extinguisher is most suited for fire in an electric equipment?

(a) S 1 ¥HR /| Water Type (b) ®H YHR / Foam Type

(¢) CO:2¥HR / CO:2 Type (d) 39U H ¥ SIS 72l / None of the above
T FOIagH 1 AW H1 B 87

What is the charge of an electron?

(a) 1.6x107'°C (b 1.6x1072C

() 16x107°C (d 1.6x10”C
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26.

27.

28.

29.

30.

31.

SEH 9 & 3T 2

Lux is unit for measuring

(a) ¥R / Noise (b) UsH / Light

(c) THl / Heat (d) T / Pressure

ST T B et SO A 9=

Identify the disease caused by bacteria :

(a) I&HT / Tuberculosis (b) SHIEST / Influenza

(c) HIV (d) M/ Dengue

3 TR 6t wfafshan 2|

Fire is type of reaction.

(a) T&FH / Reduction (b) uwEUfifs / Endothermic
(c) WEUfH® / Exothermic (d) To%a HE / Neutralization
e 3 e R T A7

Who was the first Home Minister of India?
(a) SO &M@ 488 / Jawaharlal Nehru

(b) TGN 9gWWE oA / Sardar Vallabhbhai Patel
(c) TS5 99T / Rajendra Prasad
(d) TS EE / Morarji Desai

o it B G e & 30° 3 Fn T T A1 WG 5 S 3 A o B 3 o 2
Hidt it @oE fora 22

A ladder is placed on a wall at an angle of 30° with vertical. The distance between the base of
the ladder and wall is 3 m. What is the length of the ladder?

(@) 4 ® 5

© 6 d 7

W 3 TEel S ol vew fha wfefiar 3 sar are

For which event did India win the first Olympic Gold medal?

(a) &1 / Shooting (b) e / Badminton
() e i gt / Men’s Hockey (d) Pt / Wrestling
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33.

34.

35.

36.

37.

&7 g9 P, Q 31X R 300 L &t % TH 9% ! 10 B¢ H W Heha B A YO8 R % Wew § P @ SO
2, P ¥ wem ¥ A Q F Arem A uwh REE R, @ Q 36 &% i Bha v # W ueha 27
Three pipes P, Q and R can fill a tank of 300 L capacity in 10 hours. If the flow through R is

double that of P, flow through P is % rd flow through @, in how much time can Q fill the same

tank?

(a)

(©

5%¢ / 5 Hours
1552 / 15 Hours

TG 1 U el I 1 27
Which is the National Fruit of India?

(a)
(©

%ell / Banana
F™ / Mango

iR ————— o 3T 2

Bauxite is an ore of

(a) & / Iron

()

gAY / Aluminium

(b)
(d)

(b)
@

(b)
(d)

109/ 10 Hours
20%< / 20 Hours

ug / Apple
el / Gooseberry

dfsr / Copper
ST / Zine

36 km/hr < TR T T 91N T & 10 TS 1 TH WY B UK HEl 71 3T H e TR 27

A train moving at a speed of 36 km/hr crosses a pole in 10 seconds. What is the length of the
train?

(@)
(©)

360 m
150 m

e g ————— @)

Ammonia gas is

(a) Toumk / Toxic

(©

(2) 3 (b) TAT / Both (a) and (b)

NFPA 1 foram &1 :
Expand NFPA :

(a)
(b)
(c)
(d)

National Fire Protection Association
National Fire Protection Agency
National Fire Prevention Agency

National Fire Prevention Association

(b)
(d)

(b)
(d)

200 m
100 m

S / Flammable
3I9Uh H ¥ g T8l / None of the above
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39.

40.

41.

42.

43.

44.

A & 159 TFUfd HiT 8 7

Who is the 15t President of India?

(a) T 1Y Hia< / Ram Nath Kovind (b) TOd Hi/ Droupadi Murmu
(c) ¥ g@sit / Pranab Mukherjee (d) Wi wfest / Prathibha Patil

T ¥ S I faehe o o TeTe form Thohet & A 27

Which cricketer holds the record for the highest number of test wickets?
(a) IT9H / Shane Warne (b) < UsWH / James Anderson

(c) YA GLeleRd / Muthiah Muralidaran (d) %H 86U / Glenn McGrath

FIEH HIST 1 THES A0 FT 27

What is the chemical name of caustic soda?

(a) hfc¥=| HEMHE / Calcium carbonate

(b) WfeTT FEHe / Sodium Carbonate

(¢) HicyM gEgEES / Calcium hydroxide
(d) ufeam grgl@@se / Sodium hydroxide

TfETss 1 BT |1 9T FAus et =1 fefa sar g e

Which part of brain controls the involuntary actions?

(a) ufEsH / Cerebrum (b) TfEe™ / Cerebellum

(¢) &o9® / Thalamus (d) Wgen AteAmer / Medulla oblongata
TR 5 & | G ot FET S )

Myopia is also known as

(a) & gi¥far / Long Sightedness (b) AL gifar / Short Sightedness

(¢) Wife=fsg / Cataract (d) 1@ %1 W / Glaucoma

I | el o<t M3 urt it st s d 27

Which is the largest fresh water lake in India?

(a) TeR =ied / Wular Lake (b) TR & / Periyar Lake

(¢) 9IS #ie / Vembanad Lake (d) % 3 / Kolleru Lake

I GT HHHT ATk ST T T BT Il 27

Which infection causes lock jaw disease?

() @@ (fawm) / Virus (b) SftETT] / Bacteria
(¢ $FPHW / Fungus (d) e / Worms
9
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45.

46.

47.

48.

49.

50.

51.

el 3 INR. 1,800 H 15 ol =isheie @il Al 98 T dehcic I INR. 12 T s=@m g1 39 fohan
I BT ?

Sunil purchased 15 dozens of chocolate for INR. 1,800. If he sells each chocolate at INR. 12,
how much profit will he make?

(a) 300 () 330

() 360 (d) 400

psier T I9ANT B ATe B 1 A TS STHT ST SHIT S Tehdl B 7
Which chemical used in refrigerators can cause global warming?
(a) CO (b) CHs

(¢) CFC (d CO:

T A9AH 3T =19 W 56 gm N AU 1 37aq fohar 27

What is the volume of 56 gm of Nz molecules at Standard Temperature and Pressure?

(a) 44.8 m3 , (b) 44.81L

(¢) 89.6m3 (d 89.6L

TE IOX 6 Ta B §Sel B w77

Which is the smallest bone in the human body?

(2) TER% / Incus (b) T / Stapes

(c) THiEHIA / Capitate (d) =R / Cuboid

W Tk AR i a1 QY A Sl R, ) g5 gy ———— 2 Rl

When the length of a wire is doubled, its resistance
(a) 27T S@ Sl 2 / Increases 2 times (b) 27AT=H Bl 91 & / Decrease 2 times
(¢) ATATSE Il & / Increases 4 times (d 67 §g STl 2 / Increases 6 times

T e R UE § 17 km/hr < 71fd 8 R FeRdl @ 3T Serem it i 5 km/hr 21 9T % faudia d@
et =afts 6 gy iy = gty

A man can swim in still water at 17 km/hr and the speed of the water current is 5 km/hr.
What will be relative speed of the man swimming against the current?

(a) 22 km/hr (b) 17 km/hr
(¢) 12km/hr (d) 10 km/hr

IR i f5he wa # SN wa g S 27
Which layer of the atmosphere houses the ozone layer?

(a) &Y AvSe / Troposphere (b) EHAUHUESA / Stratosphere
(c) HeHUEA / Mesosphere (d) dHYEA / Thermosphere

10 748FM



52.

53.

54.

55.

b6.

57,

58.

i =9 w1 Rigid —————— %1 T faem fagia 2

Theory of Natural Selection is an evolution theory by

(a) W / Lamarck (b) =red eiféd / Charles Darwin
(¢) € / De Vries (d) ST / Wallace

fore =1 wpAT AT gaT TP ST e R R e
Where is world’s only floating National Park situated?

(a) ¥uiEets / Thailand (b) WA / India

(¢) 3SMRM / Indonesia (d) o™ / Vietnam
3t 6t TEE i e 2

Ajanta caves is located in

(a) HETE / Meghalaya (b) BEUETE / Hyderabad
(c) ¥ YW / Madhya Pradesh (d) #HEWE¥ / Maharashtra
Fortera fehdeh SI9 o HROT BId1 8 7

Colour blindness is caused due to the defect of

(a) i1 / Cornea (b) s HIREMT / Rod cells
(¢) % T / Cone cells (d) 3@ ! gaet / Iris

AL 3T 2a’ 3TN ‘4b’ TUT =18 ‘b’ It THT TGS HT TG T B ?
What is the area of a trapezoid with parallel sides ‘2a’ and ‘4b’ and height ‘h™?

(a+d), (a+2b),
(a) 5 h (b) . h
© (a+2b)*h (d) 2(a+2b)*h

SH 15 W 3R 45 W F <) ey THEE § 98 Bid 8 ot Iiemd) 5 s g 2 e

What is the resultant value when two resistances of 15 ohm and 45 ohm are connected in

parallel?
(a) 603 / 60 ohm (b)  4/45 30\ | 4/45 ohm
(¢) 45/4 3™ | 45/4 ohm (d) 3037W / 30 ochm

CuSO04.5H20 1 Afereh geaq™ 91 8 7
What is the molecular mass of CuS04.5H207?

(a) 163.57H/HA / 163.5 gm/mole (b) 205.5UM/HIe / 205.5 gm/mole
(¢) 249.5TM/HTA / 249.5 gm/mole (d) 273.5UM/A / 273.5 gm/mole
11
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59.

60.

61.

62.

63.

64.

YRA 1 Gad 92 el TIGHT HiE H 91 87

Which is the India’s largest Indigenous aircraft carrier?

(a) INS &S / INS Garuda (b) INS faseatice / INS Vikramaditya
(c) INS faspi@ / INS Vikrant (d) 39UH T T HIE TE / None of the above
it frw w6t w i @ g 27

Anemia is caused due to the deficiency of which mineral?

(a) 3AREH / Todine (b) hfewr™ / Calcium

(¢) & / Iron (1 @ifem / Sodium

‘SPACE’ wiee & 318U = forae aient @ =uafRm feran s wenar @ aifeh T&X S0 Tsh |1 3770 7

In how many ways the letters of the word ‘SPACE’ can be arranged such that vowels always

come together?

(a) 24 () 36
(o) 48 (d) 56
SSLV =7 faeam =t -

Expand SSLV :

(a) Staged Satellite Launch Vehicle

(b) Solid Stages Satellite Launch Vehicle
(¢) Small Satellite Launch Vehicle

(d) Semi Satellite Launch Vehicle

TR TP AT Uiwe & -t Te 6t gae #

Identify the Non-Permanent member of UN Security Council :
(a) %™ / France (b) Wi / USA
() SMUE / Japan (d) = / China

Ife o B 9@ % 9 F NS B Q) GHE TS H HET W 8, 9 SHl el % Fl Udg SEhe
FTR?

If a metal sphere of radius ‘r’ is cut into two identical pieces, what is the total surface area of

the two pieces?
(@) A=2zr* b) A=3zr®
(© A=dzr’ (d) A=6xr®
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65.

66.

6.

68.

69.

na,

71.

72.

TSI W & & & foe el fegg —————— =i 2

International Day for the preservation of the Ozone layer is on

(a) 12 Tadsw / 12th September (b) 14 ThdsR / 14t September
(¢) 16T / 16t September (@ 19 fdsT / 19th September

INR. 500 i Tl 7.5% o "ramwer & 9@ ey 6t st 31 foraa oot 3§ 5o afit INR. 725 & sty

An amount of INR. 500 is invested at simple interest of 7.5%. In how many years the
total amount will become INR. 7257

(a) 4 (b) 5
© 6 @ 7
T W % ST 1 S o 7 TG BT 27

Which part of the body gets affected by Hepatitis disease?
(a) Tohet/ Kidney (b) TR/ Liver
(c) Tc&1/Heart (d) 3@/ Intestine

Ta o W9 o T R Susktor <Rt Wi TR S 27
Which is the instrument used for measuring wind velocity?

(a) 3EamET / Hygrometer (b) ! / Accelerometer
(c) TAHEMRR / Anemometer (@ SRifiet / Barometer

C2HsCOOH =1 IUPAC A g9
Identify the ITUPAC name of C:HsCOOH

(a) 33T / Ethanol (b) WA / Propanol

(¢) 3315 TRE / Ethanoic Acid (d) YUATESR THS / Propanoic acid
TG T | TG T gfgen =i et ?

Who was the first woman Awardee of Bharat Ratna?

(a) W W1/ Mother Teresa (b) 3T ITE® el / Aruna Asaf Ali
(¢) sfeu meht / Indira Gandhi (d) ERH g / Sarojini Naidu

T IR W 7 7901 U8 22 2 31 1997 9¢ 58 &1 WIid &1 2791 Ue A AT 8?7

The 7t term of an Arithmetic Progression is 22 and the 19t term is 58. Which is the 27t term
of the Progression?

(a) 64 (b) 72

(c) 178 (d) 82

form g <t el & shiehsT g 27

Which hormone deficiency causes Cretinism?

(2) gfeH / Insulin (b) TIHTH / Glucagon

(c) 9EfeeH / Thyroxine (d) FeHRT / Calcitonin
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73.

74.

75.

76.

T

78.

9.

80.

6 87 31N 4 TieAT T HE w1 12 Tl § 90 o "hd 21 5 79 IR 2 An 99H s @ 16 & 9
T TR B 8 uigemd 5w a fhad Tt § qu o wendt E2

6 men and 4 women can complete a work in 12 days. 5 men and 2 women can finish the same
work in 16 days. In how many days can 8 women finish the same work?

(a) 18 ®) 20
© 22 @ 24

Freel QSRR Sia STel U8e WA $H 872
Who is the first Indian to win the Nobel Prize?

(a) SI. 9. dl. WA/ Dr. C. V. Raman (b)  sRfEm™ TITESH / Srinivas Ramanujan
(¢ s ifsg @uAT/ Har Gobind Khorana  (d) Tt ¢/ Rabindranath Tagore

300 K T Tsh 31eyl ¥ =1 37809 600 ml 21 330 K 9 TE =1 ARG <=1 B2

The volume of an ideal gas at 300 K is 600 ml. What will be the volume of gas at 330 K?
(a) 540 ml (b) 630ml
(¢) 660ml (d 720 ml

Terfih Trs 1 st fmion wfen 9 @t 27

Which is the industrial manufacturing process of sulphuric acid?

(a) T fshaT / Haber Process (b) Towitd wfsman / Reforming process
(c) W9 WfshaT / Contact Process (d)  shfeT ufshaT / Cracking Process
TelfoReeh SIMLe o1 MR foree fopam?

Who invented Electric Generator?
(a) UTOH 3Tedl TS / Thomas Alva Edison (b) #TEshel $Us / Michael Faraday

(c) TEE &/ Joseph Henry (d) Qﬁ@?ﬁf Teal / Alessandro Volta
YT ‘n’ W GEAIST < AT 6 GA B E?

What is the formula for sum of first ‘n’ even numbers?

@ Mol ®

@© n(n+1) @ 2n(n+1)

T varteor feam ! TR ST )

World Environment Day is celebrated on

(a) 69 / 6t July (b) 5/ 5t June
(© 63 /6t April (d) 54s /5t May
ferega wifs <6t 31 T R?

What is the unit for electric power?

(@ P=I*xV (b) P=V:xI

ey P=V=nl iy FP=¥IEKE
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